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# \1 1. A set of parametric equations for the line passing through the point (2, 3,4) and
% i3 is perpendicular to the plane given by 3z + 2y — z = 6 is given by
(8) z2=2+3 =342 2=4~1 \L (correct)
(b) z=2—1t 342, z=4+3¢ ceai R By
rT=2—1, y= , 2= | ‘T
(c)z=3+2t, y=2+3t, 2=-1+4t ﬁ /"
dz=14¢t y=-1+t, 2=2+1 e [ A
() z=2+2t, y=3+3t, z2=4+4t e/ﬁl
S A d * ?)t
M =3 +28 | elr—
z=4-F
NE =)
$1.S

2. If x + by + cz = d is an equation for the plane that passes through the points
P(0,0,0), Q(1,0,1), and R(—1,1,0), then b+ c+d =

n
~
(3)0 - A = /J (correct)
(b) 1 - =5 e A . , e
V\:P@\XP‘L’l ) o \[ /?/’QA\}__
((di = Gy /,,Ef:f/
2
(e) —2 _ <=l by A
P (vre)0)
) (x=a) b (y0) £1(29) =z
é’qu

A0E. g T e
=) i+\j -2 =
b?‘; CT"I’JZO

—) ‘_D—%C‘*'JZO
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< 3. If (a,b,c) is the point of intersection between the plane x + 3y + z = 6 and the

QH‘ linexz=t,y=1—t,2=2+3t, thena+b+c=
(a) 6 (correct)
- g
(b) 5 t43(-t) +2+3® - =
(c) 8 Lok 2eBE =0
ot i
(d) -4 . Lol
L+S= G = i ( b
(e) = —) (chb;q:(‘)l—tjlf—j b
=(Yy95)
w8 Giba = w06+ z {
~J ffxamtvu L
SS}!’-G
4. The graph of the equation 422 — 3y? — 1222 =0 is 5 :
goc =33 +122%
(a) an elliptic cone (correct)
(b) a hyperboloid of two sheets S e/“‘? i

(c) a hyperboloid of one sheet
(d) an ellipsoid
)

(e) an elliptic paraboloid
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~ &3l
&13.) 5. The domain of the function f(z,y) =In(y —z +2) is

3-x+1>0
(a) {(z,y) :y >z -2} Y
(b) {(z,y) :y >z —2} = Y > R-2
(¢) {(z,y):y=2—2}
d) {(z,9):y>=x -1}
() {(z,y) :y <z —2}

#-S7
JER . : z
' 6. An equation of the level curve of the function f(z,y) = 1 that passes through

the point (1,1) is

i L
V8 W
2L+

(a) 2 -2z + ’y2 =1 (correct)

| Ty
(b)21‘2—$+2y2=0 T_JLC_ = C 5
(c) 22 -3z +y*= -1 a0 l
(d) 222 -3z + 22 =1 = T,qu?f %

(e) 2 +z+y*=3
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~ # B
27+
$ 13:2 - 1n(2x2+2y2+1)_ L Q"( )
" (29)=(0,0) z2 4 92 =o' 1 o
4
be f - S
%
(a') 2 it i (correct)
1 ax |
b ek e z -
e - 1 T
1
— 2. i 15
(©) 3 . : === =2
(d) 0 ract 20 o
(e) 1
o (24
<
#le s
3 (o
legﬂ,ﬁhﬁ ?ﬂqv X\
- 8. Which one of the following statements is TRUE: \/ ¥
flzg) = =2 s o
Z,Y)=—7— o
zt + y? \ J/ﬁov
L
/i\ $
(a) along the line y =2z, lim f(z,y)=0 (correct)
(xiy)“’(o!o) /,\\ ;)L3 l_,_ o (8
(b) along the line y = —uz, . yl)i_r}rég ; flz. 1) = ,‘z:;;" X xt e x40
’ 2 2 B
(c) along the parabola y = 2, hm00 =3 o
1 (I,'y) ( \\
i 5 (Ivyl)lgéﬂso) fey) = 2 ™ % 3 s
5 e
@) Jim = f(z,y)=0 S S e

b L_/ g(m) D'\)L

(t)—e
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é 13.3 9. The slope of the surface f(z,y) = :re” Y at the pomt (1.2,29) in ¥hie w=-climeakibn is
equal to 3
Jg(—(lpj) = . (.'ZX:)) + e .|
(a) il % 7 (correct)
(b) 4€? Shpe = SO v € ¢ e
= T
(C) 362 - e —\-e—l
(d) 2¢? .se
(e) €2
#-/03
2
§18s = et o 9z _ 46_‘3 -
5 10. If z =€ "cos (2) then 5 ‘5.2
(a) : (correct)
A % P 5
(b) 2etcos(§) "aa_:_e Coi(‘{\
. -
(c) —2e7" cos (5) e o _e_b = (%) 5
Nx Z
(d) 2e~* sin (%) ;07-
€ |
o, Cu[(}’ i
(e) SlD (2) ;Da;-z = € ’L) Yy
R a [T Gs(3) L)
2—}@5’--6603(3—)-— '1)
¥ %"

ke
o s(H) + e Co;(,)

O

(
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v Extmpl 3

3139 11. Letz= /29 — 22 — y2. If (z,y) moves from the point (3,4) to the point (3.01,3.97),
then the change in 2z is approximately equal to

doc = A= 80l =3 = o0l

9 d:j bj 2 3.9F - L’ s ~0 .3
(a) 2_00 (correct)
1 oA Sl -3 3
(b) o e Ol Ml 4 yet
210 \[261 - 2928 Y (
(c) 25 (0.c\) 4 —-;:—- e 03)
d { L
(d) 200 —-3 Ve
3 X
(e) Pt = 2. 00 200
25
C‘
= -7—’—-5-—0
(Ve
~ Exawmgle S / l \
. 2« J %
piss LT
12.Letw=a:y2+yz2+zx2,3:=s+t2,y=E,z=sz. s ¢ S
The value of %ttg when s =1, t =1 is equal to
(a) ) (correct)
(b) 4 0 duw Pw 33

TL = x b = Oy O%

(c) 12 2 ._.s”)
(d) 8 _ (frax2) @) «(yex). O
(e) 0 p
I i) (2] + (4+) (""\
5
Sl
tz(

_10-9
o~

\f
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§13.5 13.Ifzis defined implicity as a differentiable function of z and y by the equation
zyz = sin(3z — 2y — 2),
0z W Flgy2) :Shnlaxyz) —XY?
then — =
Oox L2
e I
L B
3cos(3r — 2y — 2) — yz B 1::
(a') (correct)
cos(3r — 2y — z) + zy O : .
(b 356z =2y = 2) — 2 W $(3%-3y-2) - 9%
sin(3z — 2y — 2) + zy 2 el -2 2) =AY
cos(3z — 2y — z) + ¥z (
' O, e S B
(c) 3cos(3x — 2y — z) —zy - :?_in,,_,_.il_ =9
() 3yz = cos(3z =2y — 2) Cos (3 -1 ) + X
zy + cos(3z — 2y — z)
3cos(3z — 2y — 2) + zy
(e)
cos(3z — 2y — 2) — yz
~ W15
SIS

14. The distance between the point Q(1,1,1) and the line L : z = ¢, y = —t, 2 =2t is

equal to Q. 8-
a.l A /—L_)\n" (\\) _Lr Da>
o D)
(a _._3\/2__1. QLO( } (correct)
=3 =3 L J e
(b)_\%z—l CJ;“‘PQ“*“ F\&Yp‘j 11\ 1 \\
(1T { T 2
0 = .
\/7 = ——-——-——_"_ | = <3 I-II y
(d) 5 m
21 -
G bt (e
15
= AdF. - s
&l
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EE b
_3‘3”'@ 15. The set of all points equidistant from the point (0,0,3) and the plane z = —1
forms
(')L\‘j\l\ ZH o
(correct)

(a) an elliptic paraboloid
(b) a hyperbolic paraboloid
(¢) an elliptic cone

(d) an ellipsoid

(e) a hyperboloid of one sheet

r Al 2 2 \%{—t\
(x-) +-¢) & (2-3) = g
%
) 9(,1—‘3 +(%'5) %*"\
Y o+ +y +£/éz+‘i }+°~2*‘
il 5
) _‘:C/L‘E\j 3 & o d\)
f__{__; Z —.2(';4(9% + | ) on @\\‘ M < PO\(-C\\OG‘
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